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Subject: Part A and Exam Trade : Heat Engine

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections

Section : Part A

Q.1 1,1, K 3007 L v 3BT FHe MET. L HIOT [ TFASEAR s@0 3ed a7 [« K 58T a5 3RA. J

ins o1 g aforL
X2 TadL
X3 FFIK
X4 L afor
Question ID : 96234010419
Option 11D : 96234041675
Option 2 1D : 96234041674
Option 31D : 96234041676
Option 41D : 96234041673
Status : Not Answered
Chosen Option : --
- - W
Q2 oy sffafas 2016576 aRae fad ues foia?
Ans X1 3
V22
X 3y
2045

Question ID : 96234010326
Option 11D : 96234041303
Option 2 1D : 96234041304
Option 31D : 96234041301
Option 4 1D : 96234041302
Status : Answered
Chosen Option : 1

Q.3 o STl S sROaTErST M afoT N & @ A@ T J@ §F el 3THCT o 48/13 min Fed T
AT, M & Teedrel dF e sUard 6 min WETATE.aX A $od Thedr M o & ey swuard e
& wEE?

Ans X' 1.9.4 min
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< 2 8.6 min
¥ 3 9.6 min
X 4 9 min

Question ID : 96234010393
Option 11D : 96234041570
Option 21D : 96234041572
Option 31D : 96234041569
Option 41D : 96234041571
Status : Not Answered

Chosen Option : --

Q.4 g fRerear wAATT A9 HFAW 10T 18 RS sE. weATew Hesd HIUTE FUET A
TS FOE § A L
T AR G FGT T He
AT | BT, SR ARTES HHA.

3T 1 ; Y, SR FEGH TS S A A AT FEE FA Foars #ed fn.

Al
"X 1. e AT [ ST TS

' 2. erd A [ g HTE.
X o 1 forar 1 ity wofdr Fsrga A,
X 4 SIEEr 1 30T L ASTg 37T

Question ID : 96234010425
Option 11D : 96234041697
Option 21D : 96234041698
Option 31D : 96234041700
Option 41D : 96234041699
Status : Answered
Chosen Option : 2

Q5 Tdentify the material having high coefficient of volume expansion.

Ans 2 1. Glass
v 2. Alcohol
< 3. Water
/< 4 Brass

Question ID : 96234010350
Option 11D : 96234041399
Option 2 ID : 96234041397
Option 31D : 96234041398
Option 41D : 96234041400
Status : Not Answered

Chosen Option : --

U6 2018 A T HRA TFFCITeT U ST [WESR Awer
As o1 it AT
X 2 afem dgaat
< 3. TR FEe
v 4 T, T e

[ Question ID : 96234010331
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Option 11D : 96234041324
Option 2 ID : 96234041323
Option 31D : 96234041321
Option 4 1D : 96234041322
Status : Answered
Chosen Option : 3
Q7 v gz W FmeEh e e aR. @fee o Seamrd ReeTddr o oo e
1.14, 1.28, 1.42, 2, 1.70, 1.84
Ans X1 1.68
v 2 156
X3 1.54
< 4 1.62
Question ID : 96234010404
Option 11D : 96234041616
Option 21D:96234041614
Option 3/ID : 96234041615
Option 4 1D : 96234041613
Status : Answered
Chosen Option : 2
Q.8 Greater the value of of a material, the more rapidly it will conduct heat.
Ans 3 1. latent heat
/< 2. melting point
« 3. thermal conductivity
/< 4 regelation
Question ID : 96234010354
Option 11D : 96234041415
Option 21D : 96234041413
Option 31D : 96234041414
Option 4 ID : 96234041416
Status : Answered
Chosen Option : 3
Q.9 AwT wgUT T 240 Ferdly X80 FAS AT A 3T B ZTA AET I IONEAT x: 2 @A, A ;A XA
AT FT HRY
Ans J 1. 7%
K25
< 3
X2
Question ID : 96234010394
Option 11D : 96234041573
Option 21D : 96234041576
Option 31D : 96234041575
Option 41D : 96234041574
Status : Answered
Chosen Option : 1

Q.1 S G+ HFUS GF HE Jo@l 378, G- HFgU G H¥r 98107 317 31707 G+ HFgoTs G & H =1 9afr
0 m @it For adfd # 1§ HA TN W

Ans of 1 1-TJ+F*H
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K2I1+J-F*H
K3 I1*J-F+H
K41-T*F+H

Downloaded from - www.exammix.com

Question ID : 96234010409
Option 11D : 96234041634
Option 2 ID : 96234041635
Option 31D : 96234041633
Option 41D : 96234041636
Status : Answered
Chosen Option : 1
01-1 QoUET YA Sa=igal ea=Te grasl Soal fee Hae, car du o AT HIGeTE IO
Ans X1 3w
' 2. sgoRiE
X3 3
X 4 O
Question ID : 96234010356
Option 1 1D: 96234041424
Option'2.ID : 96234041421
Option 3 ID : 96234041422
Option 41D : 96234041423
Status : Answered
Chosen Option: 2
Q.1 An object weighs X units on the earth. If we take the same object to the moongits weight there will be :
2
Ans 1. zero
7< 2. more than X
/< 3 equalto X
« 4 less than X
Question ID : 96234010344
Option 11D : 96234041376
Option 2 1D : 96234041373
Option 31D : 96234041375
Option 4 1D : 96234041374
Status : Answered
Chosen Option : 4
% SharefEr, e FTEETT AT A1 HE
Ans w
v T I =g3eE% (A V Leeuwenhoek)
X 2 i TMesiEe (Eugen Goldstein)
X 3. Fg usfd+ (James Chadwick)
X 4 J@& FE (Robert Koch)
Question ID : 96234010328
Option 11D : 96234041312
Option 21D : 96234041311
Option 31D : 96234041310
Option 41D : 96234041309
Status : Answered
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l Chosen Option : 3

U FE AEd: SRAdE FUET TSAT 37T
Ans X 1. EUTEA WEWT

X 2. fgATTe e

X3 WD

o 4 37e geer

Question ID : 96234010335
Option 11D : 96234041337
Option 2 ID : 96234041340
Option 31D : 96234041339
Option 4 1D : 96234041338
Status : Answered
Chosen Option : 3

Ans
ETCTL ]
x|
]
|
o
S O
V2 o0
S0
]
L] L]
x:H5H
B RN
]
O ]
O
X4+O0ODO
O
O O
Question ID : 96234010420
Option 11D : 96234041679
Option 21D : 96234041680
Option 31D : 96234041677
Option 41D : 96234041678
Status : Answered
Chosen Option : 2
Q.1 Velocity ratio of simple machine is the ratio of distance travelled by the to the distance travelled by the in
6 the machine.

Ans ¢ 1. effort; effort
7< 2. load; load
W 3. effort; load
< 4. load; effort

Question ID : 96234010359
Option 11D : 96234041435
Option 21D : 96234041436
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Option 31D :
Option 41D :
Status :

Chosen Option :

96234041433
96234041434
Answered

3

Q1 v g TR S A Rt 3. A T oA R 2w i
00000X, OO00XX, OOOXXX, OOXXXXK.?
Ans  of 1 OXXXXX
X 2 XXXXXX
X 3. 00XXXXX
X 4 00XXXX

Question ID : 96234010403
Option 11D : 96234041609
Option 21D : 96234041611
Option 31D : 96234041610
Option 41D : 96234041612
Status: Answered
Chosen Option : 1
U fededT qIUEEAT FATT HIRRA 0° C F 4° C aXF e gl
Ans X1 feR T
v 2w E
X 3 g
X 4 UeT B
Question ID : 96234010341
Option 11D : 96234041362
Option 2 ID : 96234041361
Option 31D : 96234041364
Option 41D : 96234041363
Status : Answered
Chosen Option : 2
Q§1 ffese arma usoTRT aEdus gAEar T AT FOAHRAT TIET g G HawdE I8
Ans X1 HIeT
X2 2
<3 2%
N
Question ID : 96234010355
Option 11D : 96234041417
Option 21D : 96234041418
Option 3 ID : 96234041420
Option 41D : 96234041419
Status : Answered
Chosen Option : 4

Q.2 Ifstraight lines are drawn from various points on the contour of an object to meet a plane, the figure obtained on the plane is
o called the of the object.

Ans  f 1. projection
#< 2. animation

/< 3. dimensioning
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7% 4 development

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
1

Chosen Option

96234010346
96234041381
96234041382
96234041384
96234041383
Answered

Q2 1 kg A T 2 mis T 4 m/s AT ACAVATHIST AR IFAS F Rl

Downloaded from - www.exammix.com

Ans X110 J
V26l
<312
K48
Question ID 196234010340
Option 1D : 96234041359
Option 21D.: 96234041357
Option 31D : 96234041360
Option 4 1D:: 96234041358
Status : Answered
Chosen Option: 2
Q.2 * 3
2 fag (4,3) 307 (3, -2) Fhrer 3R ot amee
Ans x 1. 6
X 2 424
X35
v 4 6
Question ID : 96234010389
Option 11D : 96234041556
Option 2 ID : 96234041554
Option 31D : 96234041555
Option 41D : 96234041553
Status : Not Answered
Chosen Option : --
Qéz TG FEAT S0 EAST 3G o 84 Y& @ . AW o FEAT HIOT I
Ans of 1. 67
X 2165
< 3968
< 4 66
Question ID : 96234010386
Option 11D : 96234041543
Option 2 ID : 96234041541
Option 31D : 96234041544
Option 4 1D : 96234041542
Status : Not Answered
Chosen Option : --
Q.2 -
4 Sifde gfedean e gfea groamen Y F{oTdE.
Ans
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X1 33T sgEeT

Downloaded from - www.exammix.com

v 2 3T gged
X 3. geETRT s
X 4 gAY
Question ID : 96234010339
Option 11D : 96234041353
Option 2 ID : 96234041355
Option 31D : 96234041356
Option 4 ID : 96234041354
Status : Answered
Chosen Option : 2
Q.2 o famse w@sT (AT aFar 109 Js m K) & 0.04 m? Fede 0107 @l 20 em WE. W, 7 H@ST T Hed
5 200°C FIFETT ATAEE FRET F&, T T Fosq Gdeid 6Nl 3N AT HEA,
Ans  of 1436 kdis
< 2 5.80 kdis
X 3232 kdis
X 4 3.42 kis
Question ID : 96234010365
Option 11D : 96234041459
Option 21D : 96234041460
Option 31D : 96234041457
Option 41D : 96234041458
Status : Not Answered
Chosen Option : --
QéZ T Rl 21500 1 Rwa oaelr e Mo AT 100 T AGRET UeF SUATT . 25% ABT
Erafaoarardr & B fader R afgs
Ans X1, 1,960
v 2 22,000
2 3 1,920
< 4 %2,040
Question ID : 96234010380
Option 11D : 96234041518
Option 2 ID : 96234041519
Option 31D : 96234041517
Option 4 1D : 96234041520
Status : Answered
Chosen Option : 2
Q.2 s
5 S x = V125 X+/30XV/6. #ITx=
Ans of 1150
X 2175
< 3 136
X4 125
Question ID : 96234010397
Option 11D : 96234041586
Option 2 ID : 96234041587
Option 31D : 96234041588
Option 41D : 96234041585
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Status : Answered
Chosen Option : 1

Q2 The effort ina class 1 lever is in direction(s).
Ans X 1. three
/< 2. multiple

3 one
< 4 two

Question ID : 96234010362
Option 11D : 96234041447
Option 2 ID : 96234041445
Option 31D : 96234041448
Option 4 ID : 96234041446
Status : Answered
Chosen Option : 3

%28 5, 7,9 11, 6, 10 I FeTF HT HT?
Ans JTE

<27

<310

<49

Question ID : 96234010396
Option 11D : 96234041582
Option 21D : 96234041581
Option 31D : 96234041584
Option 4 ID : 96234041583
Status : Answered
Chosen Option : 1

Q3 gl feear yEufed gmdia R HAeg & AT e ey e,
Ans X 1. ILNO

< 2. FLOW

v 3. WCo

/< 4 ERTIG

Question ID : 96234010412
Option 11D : 96234041645
Option 21D : 96234041648
Option 31D : 96234041647
Option 41D : 96234041646
Status : Not Answered

Chosen Option : -

Q.3 GIER e d@Er L e e ¢ afeaa R 3 e, 6, S e Wy aden foaoge i e wE dfea

1 wudew F=g an@r du ____ HEEL
Ans o 1. 27R

X 2 9R

< 3 3R

X 4R

Question ID : 96234010367
Option 11D : 96234041465
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Option 21D : 96234041466
Option 31D : 96234041467
Option 41D : 96234041468
Status : Answered
Chosen Option: 1
Q.3 sw C S D =uwr C & D = #ewh 3%, C & D 7o C & D = 3§ 1§ anfor C % D =orr C 77
D o1 oW HE , T W S X &Y % Z 7gurst
Ans y
v Zg W FET 3RS
X2 zEwr 3T e
X 3 Zar WET 9T HIE.
X4 ZE W el A
Question ID : 96234010408
Option 11D : 96234041630
Option 21D : 96234041631
Option 3 ID : 96234041629
Option 41D.: 96234041632
Status : Answered
Chosen Option:: 1
°é3 U T 50 m/s FEM 3B, 5 A FAAHEED F fRer MR (km Hedl) Fer
Ans  of 1. 900
< 2 850
< 3. 895
< 4. 880
Question ID : 96234010384
Option 11D : 96234041536
Option 2 ID : 96234041533
Option 31D : 96234041535
Option 4 ID : 96234041534
Status : Answered
Chosen Option: 1
Q.3 200 g FFET UF WG SFHT 3096 MGOGH T ATEAL. 7Y T SFHA T IHT gEAARA g5 (s Rfis
4 somoaso Jkg~ K1 amE?
Ans  of 1. 2700 4
< 2 6000 J
X 3. 270,J
& 427N
Question ID : 96234010364
Option 11D : 96234041455
Option 21D : 96234041456
Option 31D : 96234041454
Option 4 ID : 96234041453
Status : Answered
Chosen Option : 1

Q.3 Z= faAer B afor Foee 33107 §F FIATE. E 7 km TIRIHET 354, 7 SEES TBS HIOT 15
5 km 350 S, F 11 km SREHST 350 0T 35S d@5d HOT 15 km 350, E S0 goAA of FES
HET?

A X1 FE ETOT 4 km IRTHASE 3R
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/2 Fg E=TT 18 km 9THFE A2
X3 Fg EZA 4km Ja&s 3@
v 4 Fg ESAT 18km a3 3T

Question ID : 96234010423
Option 11D : 96234041691
Option 21D : 96234041689
Option 31D : 96234041690
Option 4 1D : 96234041692
Status : Answered
Chosen Option : 3

Q3 TR (UNESCO)Y fEamer #15 oo 3187
Ans x 1 Hﬂ?ﬂ% MET

X 2. et

/< 3. gifdiece s

VR

Question ID : 96234010333
Option 11D : 96234041330
Option 21D : 96234041329
Option 31D : 96234041331
Option 41D : 96234041332
Status : Answered
Chosen Option : 3

Qf HIGI@=AT T TSHFET 896 F1T HE SN BHear 78 H1g? (n=22/7 =)
Ans X1 924 cm?
X 2 616 cm?
23 154 cm?
v 4 308 cm?

Question ID : 96234010383
Option 11D : 96234041531
Option 21D : 96234041529
Option 31D : 96234041532
Option 4 1D : 96234041530
Status : Not Answered

Chosen Option : --

Q.3 Two resistors of 2 © and 6 © are connected in series and this combination is connected across a 12 V battery. Find the
8 power supplied by the battery.

Ans of 118 W
X210W
X316 W
X4 14W

Question ID : 96234010375
Option 11D : 96234041500
Option 2 ID : 96234041497
Option 31D : 96234041499
Option 41D : 96234041498
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Status : Answered
Chosen Option: 1

Ans XL 6
X 23
v 8
X a7

Question ID : 96234010377
Option 11D : 96234041507
Option 2 1D : 96234041508
Option 31D : 96234041505
Option 4 1D : 96234041506
Status : Answered
Chosen Option : 3

064 NI, STaeT T TEaT Teurder FauTAYre qEeEr HOT AT HTp Falead AH1E?

Ans
F
v
X s
< QD
Question ID : 96234010414
Option 11D : 96234041654
Option 2 ID : 96234041655
Option 31D : 96234041656
Option 4 ID : 96234041653
Status : Answered
Chosen Option : 2
Q4 sag T @E NEgaUarETeT ST FXUad EedT SFcad ST Fgoidid.
1
Ans X 1. sftqyfer fafee
X 2 T (LAN)
V' 3 AR
X 4 \@eg

Question ID : 96234010357
Option 11D : 96234041426
Option 21D : 96234041428
Option 31D : 96234041425
Option 4 1D : 96234041427
Status : Answered
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Chosen Option: 3

Ans X1 Vi
<2 Vit
< 3. 1Vit

v 4 vit

Q.4 vwr aftwwE w@ieear V @1 TG 9RT 1 ARG Sadl. A1 SdEaN F@ t AL TR [Wadd Sa1 3TE.
2

Question ID : 96234010371
Option 11D : 96234041483
Option 2 ID : 96234041482
Option 31D : 96234041484
Option 4 ID : 96234041481
Status : Answered
Chosen Option : 4
Q4 sfstar aofiaes taormér fery anfor frey
5 BRI AT 2 o9 e
Ans 1. T
V2 dg
< 3. FST
/< 4 ST
Question ID : 96234010330
Option 11D : 96234041320
Option 21D : 96234041318
Option 31D : 96234041317
Option 41D : 96234041319
Status : Answered
Chosen Option : 2
Q.4 vw Fadar FTeAT SRS S A 31707 2 B G S SO A Seetws @At 0T 7 R
4 aé sroEe, 7 wreT seEwE g T 6 Bl M el 7 Ao aEOwE T anfer 7 R
s X1 g km afREH
X2 4kmE
V3 Skm 9
A4 4 fom THRTH
Question ID : 96234010422
Option 11D : 96234041686
Option 2 ID : 96234041687
Option 3D : 96234041685
Option 41D : 96234041688
Status : Answered
Chosen Option : 3

5  Find the voltage across the 10 € resistor.

Ans X115V
V210V
K320V
Kas5v

Downloaded from

Q.4 Two resistors of 10  and 20  are connected in series and this combination is connected across a 30 V supply voltage.

r
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Question ID : 96234010373
Option 11D : 96234041492
Option 21D : 96234041490
Option 3D : 96234041491
Option 41D : 96234041489
Status : Answered
Chosen Option: 1

Q.4 Freh Ffr 3R AT 3R, T uE HeNRh Gl Gear 3. Wiy §e §oee Has Sowtd caar
6 serafeum Gaeh et cHGfeud wae T e AN A

HTRUOA

123456

Ans 1. 215346
X 2162453
W 3642153
X 4345216

Question ID : 96234010411
Option 11D.: 96234041642
Option 2 1D 96234041641
Option 31D.: 96234041644
Option 4 1D : 96234041643
Status : Answered
Chosen Option : 3

Q.4 1anfor nor B EeENEER T O Tue TR e O S T 5 HEen 3
7 arew s I T 3 RUW T e TR O R R, e e 3
& FgTem STETT .

faue 1 o TP T @ IgT T Awa
T 2: 3 W FE § 9y WA,

e 1. Fé THeS FF ¥ TGS F HEA.
¥ 11 ) TS FI § AGSA FA A

K 1T 14 RS SRS SO A
X 2 wad ARy 1 3FEE e
XK 3 BNeEr 1T U HeJalel Ssel
Vo T A 1L FFET S

Question ID : 96234010410
Option 11D : 96234041640
Option 21D : 96234041637
Option 31D : 96234041639
Option 41D : 96234041638
Status : Not Answered

Chosen Option : --

%! 437 FEEr IXY7 W1 11 & 4T A XY ¥ G5 w

Ans Xl -4
v -6
<3 -8
.
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Question ID : 96234010376
Option 11D : 96234041502
Option 21D : 96234041501
Option 31D : 96234041504
Option 41D : 96234041503
Status : Answered
Chosen Option : 2

Q.4 The effort applied to move a load is 15 units and the machine advantage is observed to be 3. Find the load.

9

Ans X 1. 15 units
/< 2. 5 units
/< 3. 3 units
W 4 45 units

Question ID : 96234010361
Option 11D : 96234041443
Option 2 ID : 96234041442

Option 31D :
Option 41D.:
Status:

96234041444
96234041441
Answered

Chosen Option.: 4

Q.5 vl gt SR W FUATATS! T 2,000 T9T T S, M THUT TFARUST 2/5 Tl T
FTe. & AT faeues R 4 e

Ans 1. 24,250
v 2 5,000
X 3. 34,000
X 4 %4750

Question ID : 96234010381
Option 11D : 96234041522
Option 2 ID : 96234041524
Option 31D : 96234041521
Option 41D : 96234041523
Status : Answered
Chosen Option : 2

Q.5 Two resistors, one of 12Q a!s!thl.aﬂ)er of 24 © are connected in parallel. This combination is connected in series with a 22
1 Qresistorand a 12 V battery. The currentin the 12 Q resistor is i

Ans X1, (6/15)A
X 2, (205 &
2.3 (@15 A
v 4 (415 A

Question ID : 96234010366
Option 11D : 96234041463
Option 2 ID : 96234041461
Option 31D : 96234041464
Option 41D : 96234041462
Status : Answered
Chosen Option: 1

Qé5 anfr FgaA FEE FvEr g F S geue Fearst e 7. 12 00 15 7 e QUi ST e

Ans x1. 220
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< 2 215
<3214
v 4 210

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

96234010382
96234041526
96234041527
96234041528
96234041525
Answered

4

QS5 Fr g v EdfaT e g e gl e L g - T I e+ g - T ame .
3 T FHEEROT Je T AT

Chosen Option :

9x3+6+2="7
Ans x 1. 10
v 16
X312
K420
Question ID : 96234010406
Option 11D : 96234041621
Option 2 1D : 96234041623
Option 31D : 96234041622
Option 4 1D : 96234041624
Status : Answered
Chosen Option : 2
Q.5 Two resistors of 2 © and 6 © are connected in series and this combination is connected agross a 12 V battery. Find the
4 current in the 6 € resistor.
Ans of 115A
K225A
X3 05A
X4 35A
Question ID : 96234010374
Option 11D : 96234041494
Option 2 ID : 96234041495
Option 31D : 96234041493
Option 4 1D : 96234041496
Status : Answered

1

Ans

\
15
17
15
8
17
15
8

v

X 2

53

r

A5 SR sin ©=15/17, AT cot © =7

Question ID : 96234010391
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Option 11D : 96234041562
Option 2 ID : 96234041564
Option 31D : 96234041563
Option 4 1D : 96234041561
Status : Answered
Chosen Option : 1

% aRer Rercs o9 after TR T g
Ans o wx sreard U feRy

X 2 W 55T 35 T

X 3 & W gl

X 4wy, &Y AR, HTEAR

Question ID : 96234010334
Option 11D : 96234041334
Option 2 1D : 96234041335
Option 31D:96234041333
Option 41D : 96234041336
Status : Answered
Chosen Option : 4

Q.5 gGrgrar ve e W0 &1 TurT R Hda. deAR 3ok SUArES! SOTaIvidl Ry Wads Hitd @ aioar,
7

9o gFHERT FravTa faer e wEea e
e
1) A A WEOT=AT BEE | WA AT dd 3R,
1) % 36 forarirear Fraom=ar WEER 210 I g9ea TS aa.
K wea R TR TR AR SR T I RA ST
X 2 17T 1 3 ofgr T T
X o fqure 1T WA Hg T 9o noee | A

o 1T3ar 11 4Ry FiEeTE A

Question ID : 96234010415
Option 11D : 96234041658
Option 21D : 96234041660
Option 31D : 96234041657
Option 41D : 96234041659
Status : Answered
Chosen Option : 1

ﬁf R TefieRoT TS FIUATETST FIUET a1 e eeEesT FET s

0+3+8%x2-15=2
Ans of 1.+ anfor -
252+ afoT «
< 3 aqrfor -
X4 = anfor-

Question ID : 96234010407
Option 11D : 96234041626
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Option 2 ID : 96234041625
Option 31D : 96234041628
Option 41D : 96234041627
Status : Answered
Chosen Option : 1
Q.5 A body starts from rest. Its displacement is proportional to when its acceleration is constant.
9
Ans  of 1. time squared
X< 2 work
< 3 time
/< 4. velocity
Question ID : 96234010368
Option 11D : 96234041469
Option 2 ID : 96234041471
Option 31D : 96234041470
Option 41D .. 96234041472
Status : Answered
Chosen Option.: 1
Q.6 ooy i, W FES FEH HIOT W T AEE AAEIS BIF 55 TS HE HT FATG e F
0 & e o mred=aT o4 T MR, T T A R amen
Ans X1 48
V2 44
<3 36
X 4 40
Question ID : 96234010387
Option 11D : 96234041548
Option 2 ID : 96234041547
Option 31D : 96234041545
Option 4 1D : 96234041546
Status : Answered
Chosen Option : 2
Q.6 weEa WA TR @A T WA, § SEEd gaE TRewTede T TEET TROTHS TEd.
1
Ans x 1. E.:].E
X2 am
VR
Question ID : 96234010338
Option 11D : 96234041350
Option 21D : 96234041351
Option 31D : 96234041352
Option 41D : 96234041349
Status : Answered
Chosen Option : 3

Q;’ forg-an faeremel afaa armeen ga faure #sor afgean faurmel Gafta sreen g fasr,
SEgeHRT 1 JEE?

Ans xl Hlﬁa_
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v 2 Q‘Eﬁ'
X 3. ggor

Downloaded from - www.exammix.com

X 4 ATET
Question ID : 96234010401
Option 11D : 96234041602
Option 21D : 96234041601
Option 31D : 96234041603
Option 41D : 96234041604
Status : Answered
Chosen Option: 2
Qé6 TF AW T 12,000 =7 e . FET 15% Taea BE a7 20% 7T S . AT 59 AT G s
Ans  of 1. 210,000
7~ 2 10,200
75 3. %10,800
75 4 11,000
Question ID : 96234010379
Option 11D : 96234041514
Option 2 ID : 96234041516
Option 31D : 96234041515
Option 41D : 96234041513
Status : Answered
Chosen Option: 2
Qf In the following figure, square represents Chinese,
triangle represents dancers, circle represents male
and rectangle represents architects. Which set of
letters represents dancers who are male?
B
C
D/E
R
ans X1 16GH
X 2. DEIG
/<3, DEF
v 4 GEF
Question ID : 96234010413
Option 11D : 96234041652
Option 21D : 96234041649
Option 31D : 96234041651
Option 41D : 96234041650
Status : Answered
Chosen Option : 4
U° wferaifadr @fEa Ac & wférd &9 TS aTRe ST,
Ans
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1. 3¢S "FEA (Attached Circle)
v 2 e S (Across Comers)
/< 3. W &EUfE (Air Conditioning)
X 4 ufiarer &e (Aerial Cut)

Question ID : 96234010347
Option 11D : 96234041388
Option 21D : 96234041385
Option 31D : 96234041386
Option 41D : 96234041387
Status : Answered
Chosen Option : 4

Q.6 x3nfor v =21 TS UNER FHIOT 4: 7 3TE. e UG, =T S IUIER AT 12 @
6 T AT SAREE (Y - X) TS Bl T A

Ans x 1. 3
v29
X3 6
X475
Question ID : 96234010400
Option 11D : 96234041597
Option 21D : 96234041600
Option 31D : 96234041598
Option 4 1D : 96234041599
Status : Answered
Chosen Option : 2
QO g6OF § = WA 3T
Ans x 1. 1[}0(:
X 2. 349C
v 3. 30°C
X 4 20°C
Question ID : 96234010352
Option 11D : 96234041405
Option 2 1D : 96234041408
Option 31D : 96234041407
Option 4 1D : 96234041406
Status : Answered
Chosen Option : 3
Q§6 S, TAEE FfEAIGEST @A FEeRT 6 841 mm 35, @, ol diEr mm 3.
Ans X1, 1250
< 21000
X 3 1216
v 4 1189

Question ID : 96234010348
Option 11D : 96234041391
Option 21D : 96234041389
Option 31D : 96234041390
Option 41D : 96234041392
Status : Answered
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l Chosen Option : 4

Qé"’ sec 45° —tan 60° = ?

Ans (1- —V@-l-\fﬁ
X2 32
?'(3.1"’{§

2
K43 +42

Question ID : 96234010390
Option 11D : 96234041558
Option 21D : 96234041560
Option 31D : 96234041559
Option 4 1D : 96234041557
Status : Answered
Chosen Option: 1

Y P mOEe, T R 9T (TTOTOY).
Ans X1 180

X 2 65.27

X 3 90

v 4 57.27

Question ID : 96234010337
Option 11D : 96234041345
Option 21D : 96234041348
Option 31D : 96234041346
Option 4 1D : 96234041347
Status : Answered
Chosen Option: 1

Q.7 v A 31T B 3@ 12 min 30T 16 min FET TH E I, A HOT B T 4 min WE FTEA
T anfr @imx A 5 #a. e oot svaredt B B s 3w aeen

Ans X 1. 6 min
20
v ? min

21
~< 3 T'min

& 407 'min

Question ID : 96234010392
Option 11D : 96234041567
Option 21D : 96234041566
Option 31D : 96234041568
Option 41D : 96234041565
Status : Answered
Chosen Option : 2

27 80% ¥ 50% =¥ 90% FFA?
Ans - 1. 30
v 2 36
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<3 34
X 4 32

Question ID : 96234010395
Option 11D : 96234041577
Option 21D : 96234041580
Option 31D : 96234041579
Option 41D : 96234041578
Status : Answered
Chosen Option: 1

Q.7 =g =rer gt Aty =T 2 SutHed € 10,000 A & T 11,449 2 | 27 o6 =reT e o
3 e

Ans 1. 7%
< 2 8%
< 3 6%
<4 1%

QuestionID : 96234010385
Option 11D 96234041540
Option 21D : 96234041538
Option 31D : 96234041537
Option 41D : 96234041539
Status : Answered
Chosen Option : 2

X
—=<]

O<

O <

>
>

&4

237 S¥_
DQ——J
>O&

Question ID : 96234010421
Option 11D : 96234041682
Option 21D : 96234041681
Option 31D : 96234041684
Option 41D : 96234041683
Status : Answered
Chosen Option : 1

Y vt R (-2.-6) 7 9T 3w
Ans JT (2: -6)
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<2 (2.6)
x 3. (:-2: 6)
x 4. (‘Gc '2)
Question ID : 96234010388
Option 11D : 96234041552
Option 21D : 96234041550
Option 31D : 96234041549
Option 4 ID : 96234041551
Status : Answered
Chosen Option : 3
Q.7 vuF FeREEFA 36 kmihr TR 1000 m FHaX X T, T § HAW T SIS ACKAEFAA AHTA 95 (Shged)
6 i
Ans X1, 400
< 2 200
v 3 100
< 4. 300
Question ID.: 96234010370
Option 11D: 96234041480
Option 21D : 96234041478
Option 31D : 96234041477
Option 41D : 96234041479
Status : Answered
Chosen Option : 3
057 Identify the material having low coefficient of volume expansion
Ans  of 1 Tron
75 2. Mercury
< 3. Aluminium
< 4 Brass
Question ID : 96234010351
Option 11D : 96234041403
Option 2 ID : 96234041401
Option 31D : 96234041404
Option 4 ID : 96234041402
Status : Answered
Chosen Option : 2
Q.7 Inacodé language, 295 means "water is liquid’, 549 means 'oil is liquid' and §24 means 'oil on water’. Find the code for ‘on'.
8
Ans x 1.5
K22
V3 3
X4 4
Question ID : 96234010405
Option 11D : 96234041619
Option 21D : 96234041618
Option 31D : 96234041620
Option 4 ID : 96234041617
Status : Answered
Chosen Option : 3
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O Afpery a1 ufee fEw R Fore
Ans 1. a7l @A

< 2. FHEAT IR

X 3 TAUR. g

v 4 TTIE Agar

Question ID

Option 2 ID

Option 4 ID

196234010329
Option 11D :

96234041314

196234041313
Option 31D :

96234041315

1 96234041316
Status :
Chosen Option :

Answered
1

@8 In engineering drawing, the letters LH signifies
Ans X 1. Level Hide

Chosen Option :

/< 2. Low Heat

7% 3. Limit of Height

« 4 Left Hand
Question ID : 96234010349
Option 1 ID : 96234041394
Option 2 ID : 96234041393
Option 3 ID : 96234041395
Option 4 D : 96234041396

Status : Answered
Chosen Option : 4
Q.8 : 5 _
1 Teeiedr oAy 3R RvR e el
Ans  of 1. HIL

X 2 VWX

< 3. PQR

X 4 EFG
Question ID : 96234010417
Option 1 1D : 96234041666
Option 2 ID : 96234041667
Option 3 ID : 96234041665
Option 4 ID : 96234041668

Status : Answered

1

U8 @refretidr Faofiear g Ioad woTEr?
Ans X1, S

v 2 s

X 3. e

X4

Question ID : 96234010327
Option 11D : 96234041307
Option 2 1D : 96234041306
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Option 31D : 96234041305
Option 4 1D : 96234041308
Status : Answered
Chosen Option : 2

Q.8 aidr | 3 Far r EdedT CH A QR 3. GREAT OIAORA ddedl g aidt e Beam andem anean el
3 HHEeEdr AT UH OREr T FAE

Ans X‘]. R
v 2 2R
< 3 4R
X 4 R2

Question ID : 96234010372
Option 11D : 96234041486
Option 2 1D : 96234041487
Option 31D : 96234041488
Option 4 1D : 96234041485
Status : Answered
Chosen Option:2

@8 Which of the following options does not have an SI base unit?
Ans X 1. Electric current

/< 2. Luminous intensity

« 3. Frequency

#< 4 Amount of substance

Question ID : 96234010336
Option 11D : 96234041343
Option 2 ID : 96234041342
Option 31D : 96234041344
Option 41D : 96234041341
Status : Answered
Chosen Option : 3

% R . AN § e AT TeAFTISN 9T HEd.
1 AT 31 (Malgudi Days)

X2 & gH A &85 (The Toom on the Roof)

X s T @segat (Two Lives)
X 4.3 Fg&Te 919 (A Suitable Boy)

Question ID : 96234010332
Option 11D : 96234041327
Option 2 1D : 96234041325
Option 31D : 96234041326
Option 41D : 96234041328
Status : Answered
Chosen Option : 1

Q8 ag 10R=wE v FIW 25907 F% AL B 10 Ewe 39 w15 7 w% awmAn e s REw ey
6 I ¥ T AR AT F FA O IS FH FOTEE B A S RAw aween

Ans XT 10
<29
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<38
v 11
Question ID : 96234010399
Option 11D : 96234041594
Option 2 1D : 96234041595
Option 31D : 96234041596
Option 41D : 96234041593
Status : Answered
Chosen Option : 4
Q.8 Ifamachine overcomes a load 'L’ and the distance travelled by the load is ‘Ld", the work done by the load will be :
7
Ans of 1. I x Ld
X2 4
L
K 2
LxLd
XLt
Ld
Question ID.: 96234010360
Option.1 1D : 96234041440
Option 21D : 96234041439
Option 31D : 96234041438
Option 4 1D : 96234041437
Status : Answered
Chosen Option: 1
Q-8 \what is the minimum number of lines
required to make the given image?
Ans x 1. 10
v 2 11
X 312
X 0
Question ID : 96234010418
Option 11D : 96234041670
Option 21D : 96234041671
Option 31D : 96234041672
Option 41D : 96234041669
Status : Answered
Chosen Option : 2
Q.8
9
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13 1€ Rrurd e aree e 3 Tl FAHg Foedr RuEEER R, Rumra S sgEe

IR A F e § FFETOT AT T

forerer : gdeTera A iR Refde & e g
AT 1 A R Sewaery Auearwdr etaa & s,

A 1L: ST Sehaed=n Arer #1°T EgEfAe a1 FHReReT THaT HId I8,

1. T HTAT 1 3T A

X2 1TRT 19T FIONEr AT .
XK 3 reigr 1 37O 11 3iaeyT 3meet

X 4. e 3TA 11 3TEE HE

Question ID :
Option 11D :
Option 21D :
Option 31D
Option 41D :
Status:

Chosen Option :

96234010424
96234041693
96234041696
96234041695
96234041694
Answered

1

Q.9 Aoy BUw FF 15 awg &% a9, B 30T € UF FH 20 BIET FH FF qFaF 0T AT ©
0 o 7w 10 REwe F% Y. T TEEO S S 3 Reh R & a9 s

Downloaded from - www.exammix.com

Ans
X 11067 Tegw
< 2 1091 fegw
V'3 023 feaw
X 41071 feTw
Question ID : 96234010398
Option 11D : 96234041589
Option 2 ID : 96234041592
Option 3 ID : 96234041591
Option 41D : 96234041590
Status : Answered
Chosen Option : 3
Q9 A is a theoretical egact plane, @xis or point location that GD & T or dimensional tolerances are referenced to.
1
Ans 3 1. section
< 2. frame
v 3 datum
/< 45flange
Question ID : 96234010345
Option 11D : 96234041378
Option 2 ID : 96234041380
Option 3 ID : 96234041377
Option 4 ID : 96234041379
Status : Answered
Chosen Option : 3
Q.9
2
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Expenses Breakup %
[

Foerr Rfry g cRraHY 3 HT 81 919 OIE SrETEa. T WA U FO TIere FeAT
3o &

THUT W FTEH T 25,000 FHEAH IS U @ A 3@w?
Ans 1. 29,000

Downloaded from - www.exammix.com

< 2 %1.800
v 3. 22,500
< 4 %5000
Question ID : 96234010416
Option 11D : 96234041663
Option 2 ID : 96234041664
Option 3 ID: 96234041661
Option 41D : 96234041662
Status : Answered
Chosen Option : 3
%0 v v avq i wE, o AT gear & e A F FF
Ans X 1. e
W 2 Rearch
< 3. o
X4 g
Question ID : 96234010342
Option 11D : 96234041366
Option 21D : 96234041365
Option 31D : 96234041367
Option 41D : 96234041368
Status : Answered
Chosen Option : 2
Q9 gan st e e AR, el FECAG (-1 ot Tt Jreeer aefr st
-9/11:11/5 1 13/2:7
Ans o 1. 1%
X 253
<8, 37
X 4 2/13
Question ID : 96234010402
Option 11D : 96234041608
Option 21D : 96234041607
Option 31D : 96234041606
Option 41D : 96234041605
Status : Answered
Chosen Option : 1
L JPEG % 9 wfdea w9 g,
Ans
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/< 1. Sise 9EnH viasediecs A9 (Joint Program Executing Group)
52

SAiSe 9EH TEEO#EES AT (Joint Program Experimental Group)

#< 3. SAiS Wan#F TEE9LH 49 (Joint Program Experts Group)

v

Siige wieEnThs TFEIeH A9 (Joint Photographic Experts Group)

Question ID : 96234010358
Option 11D : 96234041432
Option 2 ID : 96234041431
Option 31D : 96234041429
Option 4 ID : 96234041430
Status : Answered
Chosen Option : 2
069 T R 20 Hehaid 400 m 3Has 9N 4d. a¥, o4T ST TOFL T (km/hr #edy) e,
Ans X1 124
X 2 108
<3 36
v 4 72
Question ID : 96234010369
Option 11D : 96234041476
Option 2 ID : 96234041475
Option 31D : 96234041473
Option 4 ID : 96234041474
Status : Answered
Chosen Option : 4
Q.9 T
5 ST 5050 % 0.5x= 25250 3T , FL 25055K="2
Ans X1 0.2505
v 2 2505
< 3. 250.5
X 4 2505
Question ID : 96234010378
Option 11D : 96234041511
Option 21D : 96234041510
Option 31D : 96234041512
Option 41D : 96234041509
Status : Answered
Chosen Option : 3

Q.9 an object starts from rest at x = 0 m and moves with a constant acceleration of 1.6 m/s? along the x-axis. During its journey
8 fromx=12.8mtox=20.0m, itsaverage velocity will be

Ans of 1. 7.2mfs
< 2 8.8m/fs
<3 2.4mis
X 4 3.6m/s
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Option 11D : 96234041451
Option 2 ID : 96234041452
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Option 3 ID : 96234041449
Option 4 ID : 96234041450
Status : Answered
Chosen Option : 4
Qég If a body has a specific gravity of less than 1, then it will float in/on
Ans 1. liquids
5 2. mercury
v 3 water
< 4 air
Question ID : 96234010343
Option 11D : 96234041372
Option 21D : 96234041369
Option 3 ID : 96234041371
Option 4 1D : 96234041370
Status : Answered
Chosen Option: 3
Q.1 : ; ;
oo Molar specific heat capacity of a substance is
Ans 1 A
v Q&)
i AT
AQ
X2 pl—
AT
X+ EIE)
A AAQ
X (=
Q
Question ID : 96234010353
Option 11D : 96234041411
Option 2 1D : 96234041409
Option 3 ID : 96234041410
Option 4 1D : 96234041412
Status : Answered
Chosen Option : 1
Section : Heat Engine
Q1 In diesel eycle combustion takes place at - Choose the correct answer.
Ans  3¢.1. Constant volume
< 2. Constant temperature and pressure
/< 3. Constant temperature
+ 4 Constant pressure
Question ID : 96234010454
Option 11D : 96234041814
Option 2 ID : 96234041816
Option 31D : 96234041815
Option 4 ID : 96234041813
Status : Answered
Chosen Option : 4
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Q2 Wire gauge is a measurement of a wire’s - Choose the correct answer.
Ans < 1. brittleness

/< 2. Tensile strength

+ 3. Diameter

#< 4 Hardness

Question ID : 96234010434
Option 11D : 96234041736
Option 21D : 96234041734
Option 31D : 96234041735
Option 41D : 96234041733
Status : Answered
Chosen Option: 3

@3 Tdentify the point angle of a Centre punch from the given options.
Ans X 1. 30°
v 2 90°

Question ID : 96234010480
Option 11D : 96234041917
Option 21D : 96234041919
Option 31D : 96234041920
Option 41D : 96234041918
Status : Not Answered

Chosen Option : --

Q.4 Identify the instrument used for checking flatness@nd squareness of a surface?
Ans X 1. Go Gauge

W 2. Try square

/< 3. Vernier height gauge

75 4. Centre punch

Question ID : 96234010482
Option 11D : 96234041927
Option 2 1D : 96234041925
Option 31D : 96234041926
Option 41D : 96234041928
Status : Answered
Chosen Option : 4

Q5 The purpose of dynamo is — Choose the correct option.
Ans 1. Act as reservoir of electrical energy

/< 2. Supply electric power

/< 3. Convert mechanical energy into electrical energy

« 4 Continually recharge the battery

Question ID : 96234010466
Option 11D : 96234041863
Option 21D : 96234041861
Option 3D : 96234041862
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Option 4 1D : 96234041864
Status : Answered
Chosen Option : 3

Ans  of 1. Dynamo meter
7< 2. Energy meter
/< 3. Torque wrench

/< 4 Indicator

Q.6 The device. which is used to measure the brake power of an engine is called - Choose the correct answer.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

96234010472
96234041887
96234041888
96234041886
96234041885
Answered

1

Ans (1. Crankshaft
/< 2. Timing gears

/< 4 Engine camshaft

« 3 Fuel injection camshaft

Q.7 The drive for the diesel fuel feed pump is taken from the - Choose the correct option

Question ID
Option 2 ID
Option 4 ID

Chosen Option

196234010467
Option 11D :

96234041868

196234041867
Option 31D :

96234041865

196234041866
Status :
14

Answered

Ans xl qujckly

#< 3. With cleanliness
v 4 Withoutnoise

Q8 A lubricant oil is needed to tun'themachine

#< 2. With increased friction

Question ID :
Option 11D :

Option 2 ID

Option 4 ID

96234010489
96234041954

1 96234041956
Option 31D :

96234041955

: 96234041953
Status:
Chosen Option :

Answered
2

Ans 1. Colorimeter
/< 2. Barometer
7% 3. Thermometer

« 4 pyrometer

Q.9 The instrument used to measure high temperature in the furnace is-Choose the correct answer.

l
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Question ID : 96234010441
Option 11D : 96234041763
Option 21D : 96234041762
Option 31D : 96234041761
Option 41D : 96234041764
Status : Answered
Chosen Option : 4
061 Belt slackness is due to - Choose the correct answer.
Ans  of 1. Worn shaft
< 2. Worn chain
7% 3. Worn gear
75 4 Worn sprocket
Question ID : 96234010475
Option 11D : 96234041897
Option 21D : 96234041898
Option 3 ID : 96234041899
Option 41D.: 96234041900
Status : Answered
Chosen Option.: 2
Q1 _v
1 HAEET arT =T AISTATITEE el ST, T3 3ead
Ans X1 Qrer
X 2. ot
v 3 Regavareg
]
< 4 @reear
Question ID : 96234010435
Option 11D : 96234041740
Option 21D : 96234041739
Option 31D : 96234041738
Option 41D : 96234041737
Status : Answered
Chosen Option: 3
Q; A cutting tool used te finish and enlarge a hole is known as-Choose the correct answer.
Ans 1. Drill
& 2 Die
/< 3. "Tap
« 4. reamer
Question ID : 96234010433
Option 11D : 96234041729
Option 2 ID : 96234041731
Option 31D : 96234041730
Option 41D : 96234041732
Status : Answered
Chosen Option : 1
Q.1
3 SRIAAT Fee A IILTET F T ST Tifg.
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K& (Vee) = E

X2 g oMU
X ¢ fafesT g3
v i TThE T
Question ID : 96234010484
Option 11D : 96234041934
Option 2 ID : 96234041935
Option 31D : 96234041936
Option 41D : 96234041933
Status : Answered
Chosen Option : 4
Q.1 A hole is drilled between the crankshaft main journal and crank pin for - Choose the correct option
4
Ans o 1. Lubricating the connecting rod bearings
/< 2. Reducing the crank shaft vibrations
/< 3. Reducing crankshaft weight
/< 4 Balancing the crank shaft
Question ID : 96234010449
Option 11D : 96234041795
Option 2 ID : 96234041794
Option 31D : 96234041796
Option 41D : 96234041793
Status : Answered
Chosen Option : 1
Q1
5 STSeTET T FEUTS _ HEAL A9 3ok @AgE
A XK1 SrgoT ZErE STE
X 2 td.c 30T b.d.c F=FEH AR
’ . L
X3 faferETar aasa =g
v TETRETE TSR
Question ID : 96234010443
Option 11D : 96234041772
Option 2 ID : 96234041770
Option 31D : 96234041769
Option 4 1D : 96234041771
Status : Answered
Chosen Option : 2

061 Scavenging is done to maintain - Choose the correct answer.
Ans % 1. Oil pressure
/< 2. Fuel consumption

« 3. Power output
7< 4 Speed

Downloaded from - www.exammix.
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Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

96234041893
96234041894
96234041895
Answered

1

Q.1 Much of the heat in the exhaust gases may be recovered by the use of — Choose the correct option.
7

Ans

« 1. Heat-exchanger
< 2. Manifold

< 3. Muffler

/< 4. Tail pipe

Question ID : 96234010464
Option 11D : 96234041853
Option 2 ID : 96234041855
Option 3 ID : 96234041854
Option 4 ID : 96234041856
Status : Answered
Chosen Option.: 3
Q1 A depth micrometer can be used to measure
Ans  of 1. Diameter of bore
7< 2. Thickness of the bore
/< 3. Roundness of the bore
/< 4 Length of the bore
Question ID : 96234010491
Option 11D : 96234041961
Option 2 ID : 96234041964
Option 3 ID : 96234041963
Option 4 ID : 96234041962
Status : Not Answered
Chosen Option : --
Q; Clearance between mating parts is measured by - Choose the correct option
Ans  f 1. Feeler gauge
x 2. :LGO‘J:‘ gauge
/3. Dial gauge
/< 4 Caliper gauge
Question ID : 96234010426
Option 11D : 96234041703
Option 2 ID : 96234041702
Option 3D : 96234041701
Option 4 ID : 96234041704
Status : Answered
Chosen Option : 1

Q.2 The purpose of the injector provided on a diesel engine is to inject -Choose the correct answer.
0

Ans 3 1. Lubricant in the bearings

« 2. Fuel in the cylinders

Downloaded from - www.exammix.com




VISIT www.exammix.com FOR LATEST EXAM UPDATES, NEWS & STUDY MATERIALS

7< 3. Lubricant in the cylinder
7< 4. Coolant in the cylinder jacket

Question ID :

Option 11D

Option 21D :

Option 3 ID

Option 41D :

Status

Chosen Option :

96234010457
1 96234041826
96234041827
1 96234041825
96234041828
: Answered

2

Ans  of 1. Mean effective pressure x stroke volume
75 2. Mean effective pressure X bore diameter
7% 3. Mean effective pressure X bore arc

/< 4 Mean effective pressure x stroke length

°1'2 Indicated work per cycle is equal to - Choose the correct answer.

Question ID:

Option 1 ID

Option 3 ID

Status

96234010473

: 96234041890
Option 21D :

96234041891

196234041892
Option 41D :

96234041889

: Answered
Chosen Option :

1

2
Ans 1. Dry filters

/< 2. Heaters
' 2 Oil bath filters
7< 4. Impingement filters

Q.2 The air filters used in high speed diesel engines are generally of the type < Choose the eorrect answer,

Question ID :
Option11D:
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

96234010461
96234041841
96234041844
96234041843
96234041842
Answered

4

Ans X", Normalising
/< 2. Hardening
/< 3. Tempering

« 4 Case hardening

Qéz Cyaniding and nitriding are two methods of - Choose the correct answer.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :
Status :

Chosen Option :

96234010440
96234041760
96234041757
96234041759
96234041758
Answered

4

Downloaded from - www.exammix.com




VISIT www.exammix.com FOR LATEST EXAM UPDATES, NEWS & STUDY MATERIALS

042 Higher efficiency can be achieved of an OTTO cycle by increasing the

Ans X 1. Fuel intake
7< 2. stroke length

7% 3. Cylinder size

« 4 compression ratio

Question ID : 96234010488
Option 11D : 96234041949
Option 21D : 96234041952
Option 31D : 96234041950
Option 4 ID : 96234041951
Status : Answered
Chosen Option : 4

Qéz Piston rings are generally made of-Choose the correct answer.

Ans  of 1. Cast iron
#< 2. Brass
#< 3. Aluminium
/< 4. Copper

Question ID : 96234010447
Option 11D : 96234041787
Option 2 ID : 96234041785
Option 31D : 96234041788
Option 4 ID : 96234041786
Status : Answered
Chosen Option : 1

Qéz A cutting tool used to cut outside threads is called - Choose the correct answer.

Ans X 1. Reamer
/X 2. tap

& 3 Drill
v 4 Die

Question ID : 96234010432
Option 11D : 96234041726
Option 21D : 96234041728
Option 31D : 96234041725
Option 4 ID : 96234041727
Status : Answered
Chosen Option: 1

Q.2 Water circulation in a thermo-syphon cooling system is caused by-Choose the correct option
7

Ans  f 1. The change in density of the water
7< 2. A belt driven water impeller

/< 3. Conduction currents

/< 4. A gear driven water pump

Question ID : 96234010458
Option 11D : 96234041832
Option 2 ID : 96234041830
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Chosen Option :

Option 3 ID : 96234041829
Option 4 ID : 96234041831
Status : Answered
Chosen Option : 1
@2 The ignition condenser - Choose the correct option
Ans of 1. Reduces arcing at contacts
/< 2. Protects plugs from load
/< 3. Reduces secondary spark
/< 4 Increases contact arcing
Question ID : 96234010463
Option 11D : 96234041849
Option 21D : 96234041851
Option 3 ID : 96234041850
Option 4 ID : 96234041852
Status : Answered
Chosen Option : 4
Q.2 The grooves provided on the entire length of the body of a twist drill are called - Choose the correct answer.
9
Ans 1. webs
v 2 Flutes
/< 3. Lips
/< 4 Margins
Question ID : 96234010431
Option 11D : 96234041724
Option 2 ID : 96234041722
Option 3 ID : 96234041721
Option 4 ID : 96234041723
Status : Answered
Chosen Option : 2
@3 Which of the following is a part of the combination set?
Ans of 1. Socket spanners
#< 2 Steel rule
7< 3. Square head
/< 4. Protractor head
Question ID : 96234010487
Option 11D : 96234041945
Option 2 ID : 96234041948
Option 3 ID : 96234041947
Option 4 1D : 96234041946
Status : Not Answered

@3 The vernier caliper is used for measuring-
Ans X 1. Roundness

/< 2. Shape

#< 3. Flatness
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« 4 Thickness

Question ID : 96234010483
Option 11D : 96234041929
Option 21D : 96234041932
Option 31D : 96234041930
Option 41D : 96234041931
Status : Answered
Chosen Option : 4

Qé3 The instrument used to measure cylinder bore diameter is - Choose the correct answer.

Ans 1. Vernier caliper

#< 2. Outside micrometer
« 3. Bore dial gauge

/< 4. Telescopic gauge

Question |ID: 96234010476
Option 1D : 96234041902
Option 2 ID: 96234041901
Option 31D : 96234041904
Option 4 ID": 96234041903
Status : Answered
Chosen Option: 1

053 The point angle of twist drill for general purposes is - Choose the correct answer.

Ans x—l 600
< 2 gg°
< 3 1350
v 4 118°

Question ID : 96234010430
Option 11D : 96234041720
Option 21D : 96234041719
Option 31D : 96234041717
Option 41D : 96234041718
Status : Answered
Chosen Option: 3

@3 What is the matenal used for making Pistons?
Ans X io.Brass

2.2 ‘Galvanised Copper

+ 3 Aluminum Alloy

X 4 Steel

Question ID : 96234010498
Option 11D : 96234041989
Option 21D : 96234041990
Option 31D : 96234041991
Option 41D : 96234041992
Status : Answered
Chosen Option : 3

Q.3
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Question ID : 96234010442
Option 11D : 96234041767
Option 2 ID : 96234041766
Option 31D : 96234041765
Option 41D : 96234041768
Status : Answered
Chosen Option: 3

Q3 Why is free play in clutch needed

Ans o1 to prevent the clutch from heating up
/< 2. to increase speed of engine rpm
/< 3. to improve efficiency of braking
75 4. to facilitate lubrication by oil

Question ID : 96234010478
Option 11D : 96234041909
Option 21D : 96234041912
Option 31D : 96234041911
Option 41D : 96234041910
Status : Not Answered

Chosen Option : --

Qf The function of alternator in a vehicle is to - Choose the correct answer.

Ans 1. Measure the current

/< 2. Discharge the battery
/< 3. Measure the voltage
o 4 Charge the battery

Question ID : 96234010468
Option 11D : 96234041869
Option 21D : 96234041871
Option 31D : 96234041870
Option 4 1D : 96234041872
Status : Answered
Chosen Option : 4

Q3 Why is air cleaner filled with oil?

Ans 3 1. To lubricate

« 2. To prevent dust and dirt from atmosphere
/< 3. To pressurize

7< 4 To accelerate

[ l
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
: Answered
Chosen Option :

Status

96234010462
96234041845
96234041846
96234041847
96234041848

1

°é3 The connecting rod is made up of - Choose the correct answer.
Ans of 1. Alloy steel

2. Aluminium

#< 3. Cast iron

4 Mild steel

Question ID : 96234010448
Option 11D : 96234041791
Option 2 ID : 96234041790
Option 3 ID : 96234041792
Option 41D : 96234041789
Status: Answered
Chosen Option : 3
Q4 The tool, which is used for laying out diameter is
Ans 3 1. Seriber
« 2. Divider
#< 3. Outside micrometer
7< 4. Tri square
Question ID : 96234010495
Option 11D : 96234041979
Option 2 ID : 96234041978
Option 31D : 96234041980
Option 4 ID : 96234041977
Status : Answered
Chosen Option : 1
%4 What is the composition.of Gun metal?
Ans X 1. Lead and nickel
« 2. Copper, Tin and zinc
/< 3nCopper .Zinc and nickel
74 Lead and zinc
Question ID : 96234010494
Option 11D : 96234041976
Option 2 ID : 96234041973
Option 31D : 96234041975
Option 4 ID : 96234041974
Status : Answered
Chosen Option : 3

L e Re=r F1T F1T 37
Ans X'1.118°
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< 2 1150
< 31190
W 4 5Q0

Option 21D

Question ID :
Option 11D :

Option 31D :
Option 41D :
Status:

Chosen Option :

96234010486
96234041942
196234041943
96234041944
96234041941
Answered

2

Q.4 A mechanism used to control the speed of an engine is called -Choose the correct answer.
3

Ans 1. Speedometer

Downloaded from - www.exammix.com

75 2. Regulator
/< 3. Odometer
« 4 Governor
Question ID:: 96234010453
Option-1.ID : 96234041812
Option 2 ID : 96234041809
Option 3 ID : 96234041811
Option 4 ID : 96234041810
Status : Answered
Chosen Option : 4
044 To measure the cylinder bore one of these instrument is used. Identify
Ans X 1. Screw gauge
+ 2. Dial indicator
/< 3. Caliper
7< 4. Micrometer
Question ID : 96234010492
Option 1 1D : 96234041965
Option 2 ID : 96234041967
Option 3 ID : 96234041966
Option 41D : 96234041968
Status : Answered
Chosen Option : 3
054 The electronic ignition system is triggered on and off through .
Ans X 1. Contact breaker
o 2 Trigger
/< 3. Diode
/< 4. Permanent magnet
Question ID : 96234010499
Option 1 1D : 96234041993
Option 2 ID : 96234041996
Option 3 ID : 96234041994
Option 4 1D : 96234041995
Status : Answered
Chosen Option : 1
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L

Qé4 To increase output voltage, battery cells are connected in - Choose the correct answer.

Ans X 1. inclined
v 2. Series
3. Parallel
/< 4. Series-parallel

Question ID : 96234010436
Option 11D : 96234041744
Option 2 ID : 96234041741
Option 31D : 96234041742
Option 41D : 96234041743
Status : Answered
Chosen Option : 2

Q;‘ The purpose of thermostat is to keep the engine - Choose the correct answer.

Ans x 1. Warm

#< 2. Cool
W 3. At desired temperature
X 4. Hot
Question ID : 96234010451
Option 11D : 96234041802
Option 2 ID : 96234041801
Option 3 D : 96234041804
Option 4 ID : 96234041803
Status : Answered
Chosen Option : 2
Q.4 : - :
s which of the following are not symptoms of poor clutch operation
Ans 1. Vibration of engine
/< 2. Difficulty in gear shifting when pedal press
/< 3. pedal gets stuck when pressed
« 4 increase inengine'noise when pedal press
Question ID : 96234010496
Option 11D : 96234041981
Option 2 ID : 96234041982
Option 3 ID : 96234041984
Option 4 ID : 96234041983
Status : Not Answered
Chosen Option : --

Q§4 A fuse in an electrical circuit “blows’ as a result of a high - Choose the correct option

Ans 1. Voltage caused by a short circuit
/< 2. Current flow caused by an open circuit
/< 3. Voltage caused by an open circuit

« 4 Current flow caused by a short circuit

Question ID : 96234010438
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Option 11D : 96234041749
Option 21D : 96234041752
Option 31D : 96234041751
Option 4 1D : 96234041750
Status : Answered
Chosen Option : 4

% ffe ¥ = =1 e fafafise For s, g
ErSrAC e

M grEn (o)
X 2
X3 T=5 (9E)
< 4 ATAT

Question ID : 96234010427
Option 11D:96234041707
Option 211D : 96234041708
Option 31D : 96234041706
Option 41D : 96234041705
Status : Answered
Chosen Option : 1

°1‘5 What is the principle on which brakes work?
Ans 1. Vibration

' 2. Friction

#< 3. Suction

/< 4 Dragging

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

96234010500
96234041998
96234041997
96234042000
96234041999
Answered

2

°é5 An air chisel is used to brake or cut metal objects apart. How is it operated?
Ans o 1. Ppeumatically

/< 2xMagnetically

758, Frictionally

/< 4. Hydraulically

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

96234010428
96234041709
96234041711
96234041712
96234041710
Answered

1

Ans

Qé5 The diesel engine usually emits excessive smoke during — Choose the cotrect option.
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o 1. Accelerating
7% 2. Decelerating
7 = Starting
/< 4 Idling

Question ID : 96234010465
Option 11D : 96234041859
Option 21D : 96234041860
Option 31D : 96234041857
Option 41D : 96234041858
Status : Answered
Chosen Option : 4

Q"‘s In a diesel engine feed pump is located on - Choose the correct answer.

Ans X 1. Fuel tank
/< 2. Fuel filter
/< 3. Cylinder head

v 4 FIP

Question ID : 96234010455
Option 11D : 96234041818
Option 2 ID : 96234041819
Option 31D : 96234041820
Option 41D : 96234041817
Status : Answered
Chosen Option: 1

Q.5 When tolerance is given on one side of the basic dhnensionitis_c;a]le‘d - Choose the correct answer.
5 :

Ans 1. Allowance system

' 2 Unilateral tolerance
/< 3. Bilateral tolerance

/< 4 Tolerance system

Question ID : 96234010429
Option 11D : 96234041714
Option 21D : 96234041715
Option 31D : 96234041716
Option 41D : 96234041713
Status : Answered
Chosen Option : 2

065 The ratio between BHP and IHP is called - Choose the correct answer.
Ans 1. Engine efficiency

/< 2. Power efficiency

« 3. Mechanical efficiency

/< 4. Thermal efficiency

Question ID : 96234010445
Option 11D : 96234041778
Option 2 ID : 96234041780
Option 31D : 96234041779
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Option 41D : 96234041777
Status : Not Answered
Chosen Option : --

@5 A governor is a

Ans 1. Pressure sensitive device
/X 2. Temperature sensitive device
W 3 Speed sensitive device

/< 4 Vacuum sensitive device

Question ID : 96234010459
Option 11D : 96234041834
Option 21D : 96234041833
Option 31D : 96234041835
Option 4 1D : 96234041836
Status : Answered
Chosen Option ;.2
Q.5 In starting of diesel engines by electric starting what is used to supply power to the starter motor?
8
Ans  of 1. Battery
/< 2. Rectifier
7< 3. Dynamo
< 4. Generator
Question ID : 96234010469
Option 11D : 96234041876
Option 2 1D : 96234041875
Option 31D : 96234041873
Option 4 1D : 96234041874
Status : Answered
Chosen Option: 1
065 The coolant used for reaming aluminuin work piece is - Choose the correct option
Ans 1. Air pressure
< 2. Water
v 3 Kerosene
< 4 Lard oil
Question ID : 96234010439
Option 11D : 96234041755
Option 2 ID : 96234041754
Option 31D : 96234041753
Option 41D : 96234041756
Status : Answered
Chosen Option : 2

Ans  of 1. Pure air alone

/< 3. CNG gas
< 4 Diesel

< 2. A mixture of air and fuel

Q(f’ ‘What is drawn in the cylinder of diesel engine during suction stroke?

r
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Chosen Option :

Question ID : 96234010497
Option 11D : 96234041986
Option 2 ID : 96234041985
Option 3 ID : 96234041987
Option 4 ID : 96234041988
Status : Answered
Chosen Option : 4
@6 Micrometer can measure upto
Ans X 1. 0.005 mm
/< 2. Microns size
< 3 0.1 mm
o 4 Least count
Question ID : 96234010490
Option 11D : 96234041958
Option 2 ID : 96234041959
Option 3 ID'* 96234041957
Option 4D : 96234041960
Status : Answered
Chosen Option: 2
Q¢ Identify the the material used for twist drill.
Ans 1. Alloy steel
v 2 HSS
7< 3. Carbide steel
#< 4 Mild steel
Question ID : 96234010485
Option 11D : 96234041940
Option 2 ID : 96234041937
Option 3 ID : 96234041938
Option 41D : 96234041939
Status : Answered
Chosen Option: 3
%® Air lock in fuel line will cause - Choose the correct answer.
Ans 1. Engine idling high
/< 2. Injector pressure is too high
« 3»Late starting and erratic running
<4, Excess delivery from FI pump
Question ID : 96234010477
Option 11D : 96234041908
Option 2 ID : 96234041907
Option 3 ID : 96234041905
Option 4 1D : 96234041906
Status : Not Answered

4

Ans 1. Fine adjusting screw

Q.6 What is the part of the universal surface gauge which helps to draw a parallel line along a dotted edge known as?
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/< 2. Center punch
< 3 Scriber
« 4 Guide pins

Question ID :
Option11D:
Option 21D :
Option 31D :

Option 4 ID

Status :
Chosen Option :

96234010481
96234041924
96234041921
96234041923
1 96234041922
Not Answered

L FT FIOTT=AT ST FT FEUSIT? T a7 [A9E
As 1 artr

X2 F=T

X 3 g

X 4 3.113;5%

Question ID :
Option 11D :
Option 21D :

Option 3 ID

Option 41D :

Status

96234010471
96234041881
96234041882
196234041884
96234041883

: Answered
Chosen Option :

1

Q¢ A maintenance free battery - Choose the correct answer.

Ans X 1. Does not contain water

« 2. Has lead-calcium plate grid
< 3. Does not contain acid

/< 4. Has lead-antimony plate’grid

Question ID :
Option 11D :
Option21D:
Option 31D :
Option 41D :

Status:

Chosen Option :

96234010437
96234041748
96234041746
96234041747
96234041745
Not Answered

Q6 ot - .
5’ Vernier depth gauge is used for measuring

Ans 1. Pitch circle diameter
/< 2. Round dimension
« 3. Step, depth of blind hole

/< 4 Internal dimension

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
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96234041972
96234041969
96234041971
96234041970
Answered
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l Chosen Option : 3

Q.6 Which one of the following fuel injection systems was originally used in large stationary and marine engines and is now
8  seldom used?WWW.EXAMMIX.COM

Ans % 1. Mechanical injection
W 2. Air injection
/< 3. Solid injection

/< 4. Airless injection

Question ID : 96234010456
Option 11D : 96234041823
Option 21D : 96234041821
Option 31D : 96234041824
Option 41D : 96234041822
Status : Not Answered

Chosen Option : --

% Uger e oy SveTedr BT sEeE _ #ed
gld. I 3o e=n

X s Fres

v R

<o R

X 4 ST Fvs

Question ID : 96234010444
Option 11D : 96234041773
Option 2 ID : 96234041775
Option 31D : 96234041776
Option 41D : 96234041774
Status : Answered
Chosen Option : 2

067 The principle of a radiator of an engine coeling system is to - Choose the correct answer.

Ans < 1. Increase the airspeed as it flows over the hot surface
« 2. Spread out the hot water over a large area

7< 3. Acts as aweservoir for the water

7< 4. Causeaheat flow by convection currents

Question ID : 96234010450
Option 11D : 96234041800
Option 21D : 96234041799
Option 31D : 96234041797
Option 41D : 96234041798
Status : Answered
Chosen Option : 2

Q.7 The operation of the governor can only be effective if the system is air tight which type of governor is this ?
1

Ans 3 1. Mechanical
< 2. Servo
' 3. Pneumatic
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/< 4 Hydraulic
Question ID : 96234010460
Option 11D : 96234041837
Option 21D : 96234041840
Option 31D : 96234041839
Option 41D : 96234041838
Status : Answered
Chosen Option : 3
Q.7 ¥ 2 LY o
5 e somaed gu= AR Feafed gid. AT el
Ans . *
1.
X 1. Tpfeeer e (T o)
22 HT:EH (SHFE))
v 2 ST AT AT 'ngumn‘r
: 4,
X 4 el 79 (7 o)
Question ID :» 96234010446
Option 11D : 96234041782
Option 21D : 96234041783
Option 31D : 96234041784
Option 4 ID : 96234041781
Status : Answered
Chosen Option : 2
Q.7
s CTETe S| Uheh &1T HR? I 3o Rasm.
Ans -
X 1. 7ge
X o e
oy
W 5 OTERe
X 4 SR
Question ID : 96234010470
Option 11D : 96234041878
Option 2 ID : 96234041880
Option 31D : 96234041877
Option 4 ID : 96234041879
Status : Answered
Chosen Option : 3
Q.7 A noiseproduced in the cylinder of a diesel engine during combustion, usually when the fuel oil has a low ignition
4 quality is called - Choose the correct answer.
Ans  of 1. Fuel knock
/< 2. Fuel explosion
#< 3. Fuel thrust
#< 4 Fuel burst
Question ID : 96234010452
Option 11D : 96234041807
Option 2 ID : 96234041806
Option 31D : 96234041808
Option 4 ID : 96234041805
Status : Answered
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l Chosen Option : 1

057 What is the other name for Jenny spanners ?
Ans 1. Outside caliper

« 2. Joint spanner

< 3. Inside caliper

#< 4. Odd-leg caliper

Question ID : 96234010479
Option 11D : 96234041914
Option 21D : 96234041916
Option 31D : 9623404191
Option 41D : 96234041
Status : Not Answe
Chosen Option : -

Click here
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